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3AJA4YA C. OBbbPKAHM PEAWLU

JapeHa e peauuda oT N uUenu 4ymcna, BCAKO OT KouTto e mexay 1 u N, BKAWYUTENHO, U
ce cpewa TOYHO eauMH MbT B HeA. Ka3Bame, 4e HapefeHa [ABOWKa OT JABe pa3/iUyHM
yucna B peauuaTa e obbpkaHa, ako MbPBOTO YUCNO Ha ABOWKaTa, KOeTO ce cpewa no-
paHO B peauuaTa, € no-ronAamo OT BTopoTo. Ob6bpkBaHe Ha peguuaTa Hapuyame 6poa Ha
obbpkaHUTe f[BOWKKM B HeA. Hanpumep, ob6bpkBaHeTO Ha peguuaTta 1, 4, 3, 2 e 3,
3aWoTo MMa 3 obbpkaHu aBoviku: (4, 3), (4, 2) u (3, 2). HanvweTe nporpama, KoATO
n3yucnaBa 6pos Ha peauunte C gbmkvHa N, 4YueTo O06bpKBaHE e paBHO Ha 3ajafeHo
yncno M.

Ha nbpBMA pen Ha CTaHAApTHUA BXxoh We 6bae 3ajafneH 6bposT T Ha TecToBeTe, KOWUTO
nporpamaTta Tpa6besa ga obpaboTu. 3a BCekM TeCTOB NpuMep, Ha eAuMH pef Ha BXxoda e
6bnaT 3agapeHu aeete uennm 4mcna N m M (1 < N <1000, © < M < 10000).

3a BCekM TecToB npumep nporpamaTta TpAbBa pJa w3BeAe Ha oOTAeNeH pen  Ha
CTaHAApTHUA U3XOA HaMmepeHuAa bpoil peguum no moayn 1 000 00O 007.

MpumepeH BXxoA: MpumepeH u3xoAa:
3 9

10 1 6

4 3 17957

9 13
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TASK C. SCRAMBLED SEQUENCES

Given a sequence composed of N integers, each of them between 1 and N,
including. Each of the numbers 1is participating in the sequence once. We will
say that an ordered couple of two different numbers in the sequence is
scrambled, if the first number of the couple, which is the leftmost in the
sequence, 1is bigger than the second. Scrambling of the sequence is the number
of the scrambled couples in it. For example, the scrambling of the sequence 1,
4, 3, 2 is 3, because there are 3 scrambled couples in it: (4, 3), (4, 2) and
(3, 2). Write program to find the number of the sequences of length N that have
a given scrambling M.

The first line of the standard input will contain the number T of the test
cases the program has to process. For each test case a separate line of the
input will contain the integers N and M (1 < N < 1000, © < M < 10000).

For each test case the program has to print on separate line of the standard
output the found number of sequences reduced by modulo 1 000 000 007.

Example input: Example output:
3 9

10 1 6

4 3 17957

9 13
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